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froly dyreslilp®e by peoqupnid puiinpacfynct 6% wbneds  Puwlbfioh
i pusinfapee B ns weds

Up qyrenp 990 glulfifikppy gopagulyu’ mwphop (&% 1105
& Sfurnuqprgulys appeh' 70-ps Lnpashgbp wiy gymenh fnp
Ganfoagryprgulnts o pypgelui pllsn B Fhip

VAL 4 5.
V4o 14—2_ g

11448 T

V. bunpdbgp bunlpfish ) Jngn.

1234 3= 126—3= -

2864 8= 238_8=
2454 4= 249 d4—
8864-2= 338 2=

1. 4856



e

V dwylbglkp puisafnp.

4124 7=
531465=
753 46—~
87148—

419 7=
536—5=
759—6=
879 8=

'V Lupfbgbp Suwidppsm]-

1464 22—
1574-31—
2464 43—
3281 61—

168—22—
188 --31—
189—41—
389 61—

V Vwmpumanbgbp Supfbwmppnwl b gpw dpYagng bup-
dbgbp Sbwmbjuy nppumifubpp.

2644 32—
3754 24—
556 41—
B 6714 27—

376—43=
758—26—
497 V4=
684—6R=

\/ bupfbghp puounfap. Shun gpafap.

347451=
4451 42—
577— 64—
888— 75—

465 43—
684—31—
758—46—
987— 74—

265 L 123 gupfly quusnpbghp Swpgmepplfbpm], ol
lpm] b A padngbpn, waw godupbybp Sodugumasfest juop-

qbpnd, wpuuba.

2654123
20046045
1004204 3
30048048388




AN

/ &upibglp buniphsh dpJngm.

2451 122 367—122—
2664131— 397—231—
3524215— 567—215—
3234 343— 616—343—

' Vssnpuunbghp hugdbmmpunulfibp b gpouig dfgugm]
Sugfbghp lpplp nppuulibph wpumb.

CORTULPABE

Sunupu | Gwpgnes | Swotiwe | Upunp-
doplibp | pufnpiibp | Japibp kp

2 5 4
1 3 2
3 8 6

ALvABE

bugupu | Zwpjnie | Swwina~ | Upung-
dnplibp | pufnplitip | mpibp ubp

3 8 6
) 3 2
2 5 4

GR51-233— 858 - 233—

7411 154= 895 —154—

3844 212= 596 — 21—

465 4-123— 588 - 123—"

V. dugibglp puliunfap, sy qpunp.

3124-233= 545 —233— V174-131—
1444 324= 468—324= 848 131=
2634-135—= 398 —135—= 4254 414—

5244 251= 295 - 261= | 839—dld=



8L

‘

( 7X8)+323— 265—(72: 3)
3 ( 6X7)4416— 736—(88: 4)
( 5X7)4-648— 659—(78: 3)
(18X 3)+-235— 466—(64: 16

V Purploasss wlpyppss mpulbpone i, pugl 36 widpy, g
wuiliph ylimg gl ghusdip: Ruif wyelbpm mbp qupogn, b
Pé qpeswivgl ghagugibpp Pilp 132 bp.

V IL & I fudpp wpwblpiibpp Seufmphygfs 147 &usmypl,
by IV foredipp® 25-n wpusfysmsss Lisgondbop pusifé Gudraghly Sufun-
ebygpus

V 788 hig ukpdugms qubylic 2 npacts T npp qupagey 342
hg dwgpud abpdugne: Bubif fyngpad by 1T npdfs dwpped whype
dugnts, jhf 2 mpiju qumocdly guegly by 125 g wqps

. V Baybilpnpy wbmbamfiat gapbip uhpidugndis 265 wyupl
by bl qupre pkplagn:’ 68 spplm] syl Putfi wuply go-
rEuf ne qupn abpdogne mbp bmpwlimbun fFyoip,

V Tp wpgmed pug mpp 844 fuugingp gy fuly Fyme e
232 Puf duwy fup wyy 2 wgfibpnd, bRE qhnbu Sogh i,
Bined by pugupmdfy 365w wubou Jughp:

V. Bt s By sy A fup 768 wncily, fuppy
ppuf 216, mwhdbip i pdnpbif’ 522, Timgudt by @FRbL:
Ruifu bp GRbupe i

V 134 BREf L 112 Shpwi whyminfulgps g flppes Rue
Bff sl Sowg bl ;

V. Swilbpp wblhbyh dppaiih juppbpmed, rnprivg plngbuny
sbplpmprefmsipy 2000 Shunp b5 .

1000 finnpp 1 bfygmabmp bs

Quibgbp 1 fymidbung s fB o e

V bpulnpupualy duduhimly wiph suup] Joprgbghp 1 Ly
dbunp wopudan@ynte Unncghybp mucgbuf ol Al wiply’s sy
e dpJagnifs

V Puiff fydbonp b &b quuqpy dpsish 2 emghs [hnne
plips

V. PuSf iyt b gpQuingps Gt quifangfl hhiumpn-
py dpugh Bhplu,

e R R T R v




S35 AU
743= 10-3=
2743= 30—3—
1274-3= 130— 83—

/ &upllghp fusdppsh dpdngni- {
1344 6— 140 6— 3734 7—

2454 5— 250—5— 380—7=
2684 7= 270—7= 5364 4—
17248= 480—8— 520 4—

Surpiflrghp Aundppyh dpingny-

3244 36— 360—36= © asay126—
2454-26— 270—25— 380—126—
7164-54= 770—54= - 3454235—
1534-20= 480 — 27— 580—235—

/ dwpllrmmfamalfy dfifagnd buplkgbe.

356124 — 448 216—
136} 34— 574— 32—
2444 36— 765—443—
363+ 20— 879—666—

\/ Lupdbghp pwlafnp bk lu:mlln[.

316 44 227— 4423214 169—
4351 45 165— 676452+ 347—
5244 46—346— - 447 - 2154 217=
643447 —554— 864 242 245—
762448 565— 1000— 4644 124—
8111 49 628— 963—631-+258—

\/ Dupinfis Brcfaubpp wul pppis 224 0w, ful wyppfs®
42 unflrghs Ugy ghplyme wilpuiebphl pwiff dne qpps Foubph mwb




SRR

V U wlmbunfyus Swdbpp ddbnks whgh 126 dm., fruly
qupiibip—dpufy dopn aduf 1120 wfbh b wyphfi’ 232,
Rustff dne wdbghs Audbpp dwpm b wsppy wd puibpi,

1 Yfyngpudp 1000 gpunt b

CoBll 204

Sudp pugp 1 fypgpend ke
Supblyuis mdnid b 80 dnes

Lfp pugp 20 qpud ks

PoAULEY UL

=S

Qanfi pugp 2alfymgpusd be
Sewpblus wdnd b 150 Smes
Up pugp 70 gpud be




— 87 —

v upibgbe.

1) Py mpnem b g foldifud Sudps
2) Mty mquen b wgpy whfded Saps

A anite lufll.' W UT40T 09L

n| a n|

1 ffyngpad dps | 2 | 50 2% dfyn dpu | 6 | 25
805 Lo et e e 280 deieien i o =

\/ Skyblwghe, fb 1 fwjp muphla® dipput Swjuu b -
ulafued b hupfbghp quim mprnipp:

V lnp wlmbuncffpml awenbphb Dafupp Swbbgpie Yn-
Jbph Phip 134 bp, jhppulubpp b qedbfubpp Gnefiput, fuk
lbpy 225-m| sulyurn Gmfbphy, (bppudukppy e grdbiibapgs Yag.
wlunbunc el Dufapnd pwff wlwun hups

V Up goegh oy wionbumymil . mibp 463 Joypuup L
341 ] wpmlyn wydbp:  Qwvlwdop  wbmbonefynSibpls  mbbgl
215 wyd oo dagpumps Pulf wpd oo ngfomp  Gup sy gueeqeeds

\/ Sugdbgkp Swippyn.

1564 53— 4164291—
2424 165— 5284181—
3744 233— 3374 371—
4821 226— 6464 261—

V dwpfbgbe gpufep.
2431 166—
1541 254—
6761-282—
4654-343—



— 88 —

V. dwpdbybp Suiphgn].

4354 182— 617182
3564 461— 817 461—
21724-584— 756 - 584—
2431 275— 518 —275—

V 2uyfleghp Swpfbumpazmalify dfJngum.

2464 128— 374 —128— 6481 229 =
4371 246= 3 683 - 246— 877 —_229—
5724319~ 891 -819— 7564136 —
3654 420— 792 427— 892— 136—
1851-256= 441 —256— 574277
2384 274— 512 —274— 54— 27—
3454 587— 932 587— 3991 199—
4664 466— 932 —266— 598—199—
(4X17)4-138— 462 (76:2)—
(7X12)4284— 476 (78:2)
597- (8% 6)= (36:9)4-199—
598 (99:11)— (48:6)4-153—
384 |- 449— V54478~

C RS54 176= 519—373—
1364 387 816 _ 277—
184 4-457— . 926 269—

\/ Ungllymfo] wvsnbrune o bugbpp spepuspmgisgme Swdap
374 wuy wyp wbyuipnfebgpl. wnmdfl  opp' 76wy, bphpepy
g’ 128wy, Himgwd by’ thppopy appe Rubf wgy wgp ok
drfelrghy ybppapy npps i

V. Hyoeqmed mpulnpm] dapbghh 267 funp Saq, fuly gme-
Buitnif 118 funpm] wyulyusus l},, BEnrp Anglpp  gubghin Liqe-
dEip pulsfi funnp guep mubp wipy qugpy bl dfusf st
gup 181 lunnp bgs




=88

R 1,..,,.54...1..[ winlruns B e guihy
yuppmguismfy ful o L lrunefBymubpp® pusngusgoon: 864

laralipfry qunusg [.7 by 287-p: Timgué Smquiwuippy
A s Jupuiingugls  gnePhpps Rubsf Snyedes
e

\/ Uy Soqadmabpp Jpdncd by 3 wadmf. T-ni® 257, Tl-ng
45 b sflgfy Booagwdte by Lnde Rufe Smguduns poed
bp TV wodfud:

\/ usgliats uhqpiibphl guaquglibpp dwppbghl wpp wene
Ghpp b wlpuypps @dpbpp: 1 wnifp wyoseuigibpl daviulyby
nfipuiis puinfop, fopputs T wndple. 11 wndp putdnpilpp 35-0]
willyl oyl 1L waniffy puiiofopbphy, dopetg Bldp 87 bpe Fuiff
pinfap dupphy wpp wnmibpge

V/ Quidppsfe dpJngu Supdlghp.
2064 32—
1634205 —
2084360 —
554505 —

\ bwdppyp dfiJugny 317-py bwhbghp 62:
bufp 317-p fbpynedbgba wppnipjulfbph, mmuiulibph  f
dprifaplbppy fuly 62-p  munbgulbph e dpudnpibph b Shan
Suiilghp wmpumbo.

3 Kupyrepyuly 10 wmuipuly 7 dfuidap
6 wwulgwly 2 dfudny

3 bupymeppaly 4 wuniguly 5 dfudnp—345

\/ baegs Sk Rwpfbgha.
408 285—
502—140—
609 364—
805570~



— 90 —

V Guipdlighp qpufnp.

206—165— 606—346—

503—371— 797 —457—

803—452— 808--568—

807 285— 909 679=

560— 306— 740 — 509—

710—405— - 370—107—

840—603—= 930— 601—

880-—308— 780—402—

208 - 109— © 508 —249— 608—419—
401 — 302— 305- 168— 506—227=
605 407— 404 - 376— 507—328—
807 — 208— 607—428— 904 469—
200—136— 300—218— 800—575—
400—153— . 600—473= _ 800—326—
400—256= 600 -268= . 900—634—
500—362— 700—518=— 1000—466—

V Unpmiinbune fyu puiupeingibpnd Gupnndhp dopgh-
b Bidp 207 bp, funudpps' 128 of smbmn, fpul Guibwskgbiib-
pbit 84 bpy Rubsff duwpghp Gugpl  GnpniombonFrus  puiQupe-
nglbpneds

V Up dwpgocd Swdupbgh hupma®ph 203 pns b df dup-
gd by’ fpunquidply 184 pregns Udp dwpgnud pocpbpl Bhje sk
shp b iffppuiims

V Uyp pubsJuwpuingibpoed dwpghph (bopbphi guibght w-
plonbunlh 405 ubpd L jhghuymmgophip’ 148-ny sywhuus  Lhga-
Shup puife wbpil guikgh wyp hphne popbppys

\ Unpiunbun Pruds dp wgocd Gupbglt 209 Jwgbpp k-
L LR SRR e G (L R (B
qoed® 76 wuhws 1 b 1I-pg: Rabf dughpp  foumbp Gupkght
0T wwgoponcds



gl i

/ Wepus fusnbphy fubgph 202 funepd wppwn, dfapp wbe
quinfabgle 3 wuggnsfs Thlipss pupdby bips 68, dineups 75 fumepds
P fumpd wppum whipainfuby 111 wugpe

/ Ugy wyelubpp fumgbph Phip 804 kp, duppy wigpuy mep-
tfer iy 126, pul wp mwpiuip 89 mml bpe Fulfus byt
b furghpps

\ Puqugl 3 gfuufap drnqngihpacd  wiihbglhl 746wl
dfe dimnpugned 807, puly dipcuncd® 87-mf wwhun: Rufiup wilh-
gbe T spmygmgneds

V Vymeqf dbS wndp 2 aiphph  wbhbght 705 mnfibp b
dfpuif pupyh. i wpf 337 sunpibp, pul  dpeofi’ 200 ninfe
b pupgh: Rubsf! pwprh mulbghs

V Ownunnniolyp fugdulbpyby bp. pypngp, fopp 203 asgaus=
lbpiiliphy dusimlgned byl 149-pe Gunwmnchlf wppsonmuppi
sbuimgnebppy 26% [ fulphy bp, pwifiut bp dynca fadpbphgs

-/ Ybumbbghp Swnbpp Sunllymi—Jip mbamf Sunbpp (hpgp
by Swphmeds .

— badbybe fgpribp qupngh wupmbah Qud fupeeban-
Byl wpgliuhpl Swnbph Swqybyne dbpuplp o

V dwyibgke gpunp.

235176 218— ( 6X9) + 385—
3634(32X 2)= (19X3) + 166—
456 — (56 : 4)= 481 (16X 4)—
7254-( 8 X 7)= 392 (84 4)—
637—( 8X 9)= (243)+376—
465—(63: 9)— (32X 2)+169—
551 (88 11)— (26X 3)+238—

308—( 7X 7)= (165)+198—



Uegais

\/ Piluwghp wlmgn Bjufp b Ggeimlbghe X-f diofuphi.

x—( 6X7)=245 (307— 88)4x=572 i
X-(16X5) =278 (4454 79) - x—254

X (75 : 5)=107 (870—216) 4 x—613 i
X—(91: 7)=450 (509—189)—x— 86 |

) P g wgfunp by 2 @fbpp dfdacd. '

737 218—519 13 6— 78 |
558 409—=144 96 4— 24 |
474 . 316=790 716 28—688 ,
19 Vi e 353—400



RUQUUMUSUUUYL 86U PUSULULYL MUP AEM-
£5C 1000-h EPAULARY

V U mompulyp mpmpacinalacd b 60 hppngpud gnpki. pubff
bpgogpud gnpht fppmpnnbh 2 mnypalhp

\) U baguidars puduibglt 8 Suduswp,  dusfy  jrepoguie
Symeply purfinePracip' 60 dhups  Udpputs bp gy Smypuduf jorg-
G fF g s :

\/ Ubguisp fpu 4wy qppls £0-whus Lembls Lipgut bp
wndpay e ;

\/ Guglbighp pubundap.

100X 2= 100 6= 200:2— 600:6—
100X 3= . 100X 7= 300:3— 700:7=

100 4= 100X 8= 400:4— 800:8=,
100X 6= 100(9= 500:5— 900:9—

50 2= 40 3= 70X 2=

50X 8= 20X 6= © o 80X2=

50X 4= 60X 3= 90X 2=

50X 5= 60X 4= 100X2=

100:2— 210:3— 200:4— 480:6=

140:2— 240:3— 200:5= 480:8=

360:2= 180:3= . 400:5= 720:8=

720: 2= 270:3= . 400:8— 720:9=

V. 2 maiibply jrepuguiymepf 459w 56 pmughfi Fuif
aighp fuw 2 wmnep 5% Lusgfbghp  wpuuhu.
56X2=560X2 L 6X2=100{12—112



315
174 ;
256 :
162 :

o F P e

\/ Vo &l Suspfbghp.

62X 2=
64x2—
71%3—

78X 3=

75X 6=
58X 7=
843 5=
89 6=

363:3=

52y 4= 66 38—
823 4= 68 3=
91X 4= 74X 4=
92X 5— 57X 6=
59X 6—
68X 7=
75X 9=
86X 8=

3 Rwpmepyml 6 wunlpuly 3 dpufnp : 3—1 .

\ Lmplbgka:

369 : 3=

844

488 ; 4—
462 : 2=

7=

315 :65=81 w. L 5 d. ; 5=6 wm. 3 J.—63

46X 6=
56X 7—
64 8=
86X 9—

276 : 6—
385 7—
512 : 8—
774 ; 9—

R 14
121

1 4= 888 : 8=
16= 999 : 9=
1 6=

38X 6=

18X 9—

48X8=
76X 5=

/. Pupagh Anqudusmd wllbghl  gedpgaph  awdplp— 4
dupybpnid 45-wlul, pul 8 dwpgbprid 58-uluis Uinagws 295
by wwdfybgh fbpipy dwpgneds Luguidbip pukf vadpy wilbghie

SRR A T en—



EEan =

| Byulbpuishpp $unhuingfs wfbght wpuypuf nbug.
B D D I
L] D D o

Lapnyhghp dupghbpp dkbpps

\ Pupngh Yepingh 372 Sunplfubpp mbumpibghi Sunju-
ungs Ugy dwmfpliubphy 248-p wilbghti 8, pul Hwguwdp' & dup-
greds Rufi Saghly wilbght Jhpdf 4 dupgbphy jmepupaisgme-

neds

3 \/ Casgpllichpp Ypbyme Susbarp gobghl 3 ggmen, ffuphyns w-
A5 dbifs 85 bl b 2 goeg 95 ynmblnds Lluphght 5 nnepe
(fuong Bofuwgpuds Lipeats qpud (b wimwgedis

\/ Ounluduiibpp wwpphp dbdncfluts b, w) fmppbpp
75 huny dpYualfulepp puwighy 2 wiiged wnfbyp gum, fpul dbdbpp
dpJualfibphy 17-nd spuluu: Lapaybghp pryap Swqhuduwiubph Fhodp:

\/ mpgblpps] iinbunefFyul wpgbbpnid umjuunkypy 274
S, dfp wpgoed 68, dimeuncd' 54 Swnm, Howgwds by Sufmuspem-
whu £ wmpgnuds Rubff Sun uafavnbgfl w4 wyghubphy me-
pupuisyyapacd:

FSugpbghp wyu fubgpp qfugpudp:

\/ Vs furseimis$%brppg 57 p BRES (hp, 3 whiued wibyhi mur
&b%fy me ppldaphif, m....,...ai. by Sppuich. Ruifl Sppuip Swn
P

Sbunpbghe wyu fbnpl qfwqpuip:

V. Suilppsh dpingm] Suplbgbes npfuml, 128X 2— fumuluniip
2 Supgaepguly, 4 mundiyaly, 6 dpudap huid 246,

\/ Loghfisbpn] Supflghp 214X 2—



— 96 —

V dwpfbghe.

218X 8=
331X 5=
121X 4—
213X 4=

361X 8=.
272X 4= -~
141X65=
161X6=

215X 2= 260X 2=
4255 2= 373X 2=
316 2— 481X 2=

24552 204 2—

121%5—
131X6=
123 7=
125 8—

\V 4""2'["‘.7"? Kwdplsp dfifnga.

308X 3=

126 3=
2ldxd—
123X 4=
112 6=

L beygbp bupflsniofuueusly 1o Sigusinybgbp w o

ik ubp Suhps

Suarp g | Sussrte jwlpe 0 prusifmpre

3 &8
3 8
37 8

9 2 4

\/ bungdbghp puiufnp.

108X 2=
106X 3=
107X 4=
108X 6=

130 2=
160 3=
240X 3—
180X 4=

206X 2—
2043 4—
306X 83—
104X 65—

120354
130X 64
14074
1208+




— 97 —

J Guilppsh dpYngnf Suplbghp' 248 : 2=
V. dwpfbgbe (meglpibpni’ 426 :2~

644 : 2= 369 : 3= 844 : £—
486 : 2= 448 ; 4=+
864 : 2= 936 : 3= 484 : 4=
282 : 2= 396 : 3= 884 : 4=

\/ Quiplbghp Swdppsh dpJngny’ 314 ;2=
3 . 24 howhlp bufusmpusbs podwbbghp 2 dwsp. Jip-
puste lypofy gropupusiggnp Saups

322 : 2= 414 : 3= 344 : 4=
526 : = 522 : 3= _ 568 : 4=
748 : 2= 276 : 3= R52 4=
924 : 2= 741 : 3= 724 ;4=
615 : 5= 371 : 7= 297 : 9=
725 : 5= 455 : 7= 576 : 9=
216 : 6= 416 : 8= 7265 : 9=
444 ; 6= 376 : 8= 828 : 9=

609 : 3= 600:3 L 9:3=203 h:

406 : 2= 408 ; 4= - 460 : 2=
804 ;: 2= 804 ; 4= 840 ; 2=
306 : 3= 505 : 5= 620 : 2=
906 : 3= 606 : 6= 820 : 2=
360 : 3= 660 : 6=
930 : 3= 70 ;. 7=
444 : 4= 880 : 8=
480 : 4= 990 : 9=
550 : 5= 1000 ; 10=

1. 485—7.



Soghi e

V gy 2-fp woiohe qapngh Sul ppephre fmdup
qubglt 8 fbump hupdpp fumap, dhnpp 54 l,nu,bllm[ b griimfnp
Brocqff 65 gl Aupleym] 5 mmepify oy wnpudy ffppuis gpad
Jhin wamaguis ]

V Cplpfis duvuly @'d"" 186 wpuilphipun, juepspuiiiggme~
b kgl df Bufk dmppply nprgsl b PLps Gupipp Sugonfie
Lippats Swfuu ghyusf puynp gpnpelinbph o uwmpuifhibpp Swiblup,
JEBE df qpmyumlyfls Swhou ghaud 3 fuuges pul dwmunfbils' 4 fue..

V Tajpufp 2o qupogh gpauwip Gugdubbpayty gphof wi-
s 155 wpulypuiipp SufuwSugl Sudwp ppbig S phpby b
Swg b mpwlpp gubpne Sadup  6-6  Guwylely . ks Qpuifnp wspua-
Ybpilpp qpud ghift pbpbys Bacpwpuiymeph fumu] & Gkl
Swg, 5 huublp woipps Pulficts b spujnp wpullpeibpp.

V Fesgpup 2l puqughy) gymy ghoghl dfi fancdp. poiofnp-
Bl ofnpate wyghybyfi Gk wqudbpnilphy— gpaumsfuppoed: Qpo-
wuifupoed wpulbpuibpl Py 194 bp, ol poSafapibpfit gpe

5 dunps Lipputs by wilgnnd wombbpwa B ncip, (bR pugul

bbby puiiojagibply 3 whgnd e bl

V Aeusinyuwluls pppgwnp puquphy ghng gbPulul guocqp
wpupmmghy ool s ind goegelogpbine 8 mupkluwl pogp
shpbfusiitipf Fpulighy qapey Sesupnol bl 108-p, ful gpe
g Mg qoeps bp Byl qupoglhge Pphgugp pwif bpbjog
gptgudmapkys 3

\/ pkghe b bupfbghe.

( 47X2)4137= 626 (840 : 8)—
( 86X4)—176=— 3144 (1075 )—
(172 : 4)4-208=. | 584 (584 1 4)—

(441 :3)— 19—

\ Piluaghp wibupm Bhdp L. #pbghp X-p fnfoupbi.

X-(1342)=434 (206X 4)4-x=929
X—(672 : 4)=163 (170 5)—x=184
x+(195X3)=755 (714 :6) —x= 28
x—(840 : 7)=310 . (846 :9)4x=500
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FUPVLVEShY RUSRRSL 2RULUAMVLUER

V. Qufilbglip gyl Snguutug dhplepnc @ mip:  Rusft
dbup ke Up fpyndlmply wfbyfy (8, gz qmlaras

V Uspl yuufin dopmpbeghip  uqpmguntus Snquiduuly jufunee
Bymops Ummybghp, \

V Usel g dnpmghylep yeqpmguntyucs b L Angedaaf
SHQl Pkt wspd ol pmid ey gy Uinnegbgiips

V. Bbulth dpes qdbyhp nighy, wncp b pmf il il

V. b dfpus ydenpbglp yu s 3

V' Quphghp dip gpniqh qufsndan drnmgle' 1bphapme Bomip
e gufome fByouip moeglind ik dbinpbpp Jopades spupatimfe

V' Quiligbo qupngh k qumgfanpbpys, gk b popspp-pis
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